
Bulletin Date:

TTI Model Number: 018 106 018 Starting Serial Number:

 M18 ™ COMPACT MULTI TOOL VERSION A - G2017

M18 BMT          
SERVICE PARTS DIAGRAM Apr-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 106 018 Starting Serial Number:

 M18 ™ COMPACT MULTI TOOL VERSION A - G2017

ITEM PART NUMBER PART DESCRIPTION QTY (PCS)

1 - FRONT HOUSING - LEFT 1

2 - REAR HANDLE - LEFT 1

3 351230001 QUICK RELEASE LEVER 1

4 660165016 M4 X 8MM SCREW 1

5 634890001 CLIP 1

6 563237001 RUBBER O-RING 2

7 526251001 NYLON BUSHING 2

9 351229001 SWITCH SLIDE 1

10 - ON-OFF SWITCH 1

11 - TERMINAL BLOCK 1

12 526231001 TERMINAL BLOCK PLATE 1

13 563261001 RUBBER ISOLATORS 6

14 560075002 SILICONE SLUG 2

15 - LED ASSEMBLY 1

16 660570005 M3 X 14MM SCREW 7

18 - PCBA 1

20 563262001 RUBBER MOTOR BAND 1

22 - REAR HANDLE - RIGHT 1

29 634923001 WASHER 1

31 673200001 5.0 X 26MM PIN 1

32 - FRONT HOUSING - RIGHT 1

33 661047001 M2.6 X 14MM SCREW 5

34 941048291 SERVICE NAMEPLATE 1

42 661921001 M4 X 20MM SCREW 4

43a 612235001 SUPER CUT ADAPTER 1

43b 611273006 ADAPTOR 1

47 694150001 BLADE/BACKING PAD SCREW 1

60 202712002 REAR HANDLE ASSEMBLY 1

61 202713001 SWITCH/ELECTRONICS ASSEMBLY 1

62 202714001 TERMINAL BLOCK PLATE ASSEMBLY 1

63 202715004 MOTOR ASSEMBLY 1

64 202716003 FRONT HOUSING ASSEMBLY 1

65 202717001 GEARCASE ASSEMBLY 1

1200 - TYPE J GREASE 1

M18 BMT          
SERVICE PARTS LIST Apr-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 106 018 Starting Serial Number:

 M18 ™ COMPACT MULTI TOOL VERSION A - G2017

M18 BMT          
SERVICE INSTRUCTION Apr-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 106 018 Starting Serial Number:

 M18 ™ COMPACT MULTI TOOL VERSION A - G2017

M18 BMT          
SERVICE INSTRUCTION Apr-21

www.milwaukeetool.asia


